B 1stTIme No. A=TUFE

1 0'56.963 41 HHE ZKEA  AERE 21 1'11.151 17 X ©& B R
2 0'58.955 14  oof FHE AZE R[S 22 1'13.533 23 WX = BHE R
3 1'00.378 3%  EBX B AZE R[S 23 1'15.629 2 WR £ BHE R
4 1'00.578 43 {HE KXt AZER g 24 1'15.680 12 A< K BN  BERE
5 1'01.131 37 HH B AZER RS 25 1'16.366 26 FERE & BER RS
6 1'01.585 45 KH Ktk AZE R 26 1'23.026 30 BWA = BEER R
7 1'02.289 39 IUT AZE R [ 27 1'24.341 8 Kk Bz B#E R 5
8 1'02.916 21 A EA AZE R[S 28 1'28.589 7 5\ —R BHE R
9 1'03.024 18 HE &F AZE R[S 29 1'29.695 40 RIL £ BHE R
10 1'03.049 25  PafE ¥EEE AZER g 30 1'30.936 28 —F BE B#E R i
11 1'03.965 31 BN & AZE RS 31 1'36.851 22 YE i CHERE;
12 1'04.469 46 I A3} AZER 32 1'39.443 6 H& EK CHEERE
13 1'04.591 9 HH EF AZE R [ 33 1'41.291 1 M RS CHE R
14 1'05.434 32 FHAE EF AZE R[5 34 1'42.706 20 #RK W CHE R
15 1'05.551 33 WX E AZE R[S 35 1'47.715 44 UK = CHER [
16 1'06.049 29 B A B#E R B 36 1'54.069 24 FH #WH— CH R
17 1'06.641 10 hHE % B R 37 1'54.309 36 T BETER  CHEREE
18 1'07.599 19  HHE it B#E R I 38 2'02.936 4 st = CHE R
19 1'09.286 38 ALl 8A B#E R 39 2'04.920 15 HKE &E& CHER I
20 1'10.717 42  ¥AH ZBp BE R 40 2'05.154 " R =g CHER B



B 1stTme No. A=TOF&
41 2'05.917 13 &k B CHER B
42 2'06.014 5 SH & CHE RS
43 2'09.813 27 FHI RE CHER %



